Name: KJ?,V Geometry Worksheet

Period: i Date: 7.4 Right Triangles with an Altitude
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IIT. Use the figures to answer #1-7. 3¢
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3)If AD=3 and DB = 6, find AC. 33":2 4) Find DB if BC = 6 and AD = 5. L{
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5) Find AD if DC =4 and DB = 6. /5 6) Tf AB = 12 and DB = 8, find AC. 113 3
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IV. Find each indicated variable.
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14) A right triangle has an altitude of 8 m. and a leg length of 10 m. Find the length of its
hypotenuse and the length of the other leg. L o 23107 = (52\
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15) A swimmer is sitting at a corner of an 80 ft. by 40 ft. pool. Stretched diagonally across

the pool opposite the swimmer is a string of %asfic flags. How far must the swimmer swim
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